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General Intelligence

Direction for question 1 to 3 : Select the related
word/letters/number fromthe given alternatives.

Ty A 1 € 3 a% & ferg fidw : fou o famem € @

Tt ITE/ ST/ Tl Bt G|
1. 5:26:8:?

(a) 64 (b) 65 (c) 66 (d) 67
2. Writer : Book :: ?

wE®  [EE 2

(a) Building : Architect/¥a : &R
(b) Poem : Poet/afear : &fa
(¢) Chair: Carpenter@'@f : J%8
(d) Composer : Song/did®R : i
3. BD:8:GF:?
(a) 36 (b) 42 (c) 38 (d) 40

Direction for question 4 to 6 Find the odd
letters/figure/number pair from the given alternatives.

79 & 4 /6 % & fore frdwn : fow o faedi 4 @
T ST/ Suhia/ S g1 g

4. (a) Excite/3fS@ &M (b) Flourish/®eT-%eAT

(¢c) Prosper/99 M (d) Thrive/Fw= T
S. (a)28-84 (b)34-76  (c)23-64 (d)38-76
6. (a) ABDG (b)EFHK (¢c) QPNK (d) LMOR

Direction for question 7 to 9 : A series is given, with
one or more terms missing. Choose the correct
alternative from the given ones that will complete the
series.

T W 7 /9 9% & T fidn : argem R 8, e
& I T 9§ SUE UE @ 81 U T fosed § | 98

Wt faen gim st SIgER FL g FR
7. DMP, FLN, HKL, JJdJ, ?
(a) MII (b) LIH (¢) MIF  (d) MIH
8. 1,2,8,2?, 148, 765
(a) 32 (b) 40 (c) 33 (d) 74
9. _utb_thu__ ut
(a) ctsb (b) trch (c) bets (d) cuts
10. Select the correct combination of

mathematical signs to replae * signs and to

balance the given equation.

* fagl ! 9ae SN AU T wfeTw @t Sy &

% fotu niforeia fogl & Wt §aH &1 99 &l
(7%3)%6 = 24
(a) —, + (b) -, x

(c)—,+ (d)+, x

11. Question contains three groups of things. you

have to choose, the diagram that depicts the
correct relationship among the three groups of
things

Sisters, Wives, Women

T & i aegu f TE ], S onafa die awgent & wad
H TIY AgAT SYIAl & SH SATHA BT T dil

e, uferal, Afgeny

<c>@ o @

Direction for questions 12 : Two statements are given
and followed by two conclusion | and Il. You have to
consider the statements to be true, even if it seems to
be at variance from the commonly known facts. You
are to decide which of the given conclusions can
definitely be drawn from the given statement.

W9 e 21 & o 9 : ) seaen fiu o €, e
A @1 frepd 1 307 11 Fiepret 712 31 Stuen) faeX &4 @
o5 STadsa 9 § 9R 98 SRR T A%l / T wria
B Bl el fvtg e @ T fou T s § @
- Tifvea e @ 98 Freed feeen s g% 2

13.

12. Statements/&@IT

I. All A are B/@f A, B
IL. Only C are B/%ad C, B 2
Conclusions/fTry :
I. Some C are A/$% C,B 2
IL. All A are C/@% A,C 2
(a) Conclusion I follow/frsht I et 21
(b) Conclusion II follow/f=hs 11 faeheran 2l
(c) Both the Conclusion I and II follow

forpd 1 @i 11 @41 frreberd €1
(d) None of these Conclusions I and II follow/

e 1 9 11 1 ot 78 feberan
Among the give people A is older than B and C.
D is younger than C and E. B is not the
youngest. Who among them is the youngest.
uTe Sl § A @1 3% B 3R C € 31t 81 D3SW A C
3R E @ 121 81 B 37 ¥ wad Bl T 81 3w ¥ wed
BT & 1
(a) C
(e E

(b) D
(d) Data inadequate
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14.

15.

16.

17.

18.

19.

Unscramble these letters to make a
39 g @l faee, few T
EYDSNY

(a) City/AX (b) Animal/93]

(c) River/T&t (d) Mountain/9dd

If ‘BECTERIA’ can be written as ‘ABIARCET’,
then how ‘PROTOZOA’ can be written :

Ifg ‘BACTERIA’ &1 ‘ABIARCET’ & &9 ¥ ferar s
¥&Hal § @ ‘PROTOZOA’ & & ®a ¥ foman s
HahdT 1

(a) ORPTOZOA (b) APORZOOT

(¢) TOZOAPRO (d) AROZOTOPO

Select the missing number from the given
responses

feu U famedi § @ W i A HirTUl

(a) 36 (b) 121 (c) 42 (d) 100
How many triangles are there in the figure?

T B e et 87

/N/\

(a) 13 (b) 11 (€9 (d)7

From point A, Ravi walks 5 km North-West to
point B, from point B he walks 10 km South to
point C. From point C he moves 5 km
North-East to point D. From point D he was
back to point A. If Ravi always walked in a
straight line what figure has he traced?

Ifq foig A @ 3T- ufyem feen &1 3R fog B 7= 5 ot
TeTeht oIl &, fog B ® % 10 Tt gfequr &t 31 fog
foig C & 3% 5 f&it gafw fog D 7%
g D @ 9% fag A W 9y I 1 afg
U Sl @ @ SEA SiA-Tl MR a4

(a) Rhombus/SHagHs (b) Kite/®1z
(c) Parallelogram/H¥iM Jqgs
(d) Trapezium/99cs

Which answer figure will complete the
question figure.

M- Tt I GG TIT TR o T(GEY Sl G HT?
Question Figure/q9 3T&(d :

VA
A

20.

21.

Answer Figures/3TX W&Pﬁ :

AV |4 N

(a) (b) (c) (d)

In the following question, a matrix of certain
characters is given. These characters follow a
certain trend, row-wise or column-wise. Find
out this trend and choose the missing
character accordingly.

Trafefaa e # % quil &1 Afcew fean = g1 3 aut
Ufaa a1 WraR fwet favie agia &t stumd 81 39
TG T gaT @Y 3 A8 W dul &l =& il

Z|? 1S
J | G
T [P

(a) RHS (b) WCW () RQM (d) WCV

A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in the
alternatives are represented by two classes of
alphabets as in the matrix given below. The
columns and rows of Matrix-I aer numbered
from 0 to 4 and that of Matrix-II from 5 to 9. A
letter from the matrix can be represented first
by its row and next by its column, e.g., ‘A’ can
be represented by 55, 67, etc. Similarly, you
have to identify the set for the word ‘FOUR’
& VI Hael T G&AT-9Hg W g9ian T §, S
& faweal & @ fonddt e o T g1 faewmedt # fau
T HEH TR, A& & A it g gww M E, < fon
Jie feu o Afeew & 81 Afcaw-1 & @i iR uferat
w0 ¥4 @ WE & i Afgawm-11 w5 | 91
Ao @ Us NG & UgHl Ukt Uer 3R AT wwyr
T T FATAT ST Ahdl §1 SR & Tqu ' A' &t 00,
14 N FRT FATAT ST Hhal & a91' P' &l 55, 67 AT
FT AT ST WAl g1 FH a4E W IRl v & ferw
W& 99 ‘FOUR’ @i Uga=AT §1

Matrix-I Matrix-II

0 1 2 3 4 5 6 7 8 9

0O | A|D|G|H|B 5 Pl|Q|]S|[R]|T

1 B F|D|G|A 6 T[O|P[Q]S

2 H|B[D]|G|A 7 Q| P S T | R

3|A|F|U|D]|H 8 T|S]|]O]|R|Q

4 | G|A|D|H|B 9 S| T|R|[P]|[O
(a) 11, 66, 33, 96 (b) 11, 67, 32, 97
(c) 31, 87, 32, 97 (d) 31, 66, 33, 97

22. Which answer figure will complete the

question figure.
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23.

24.

23.

26.

217.

HI- T I AR T9 IMGHA & A& Sl G HAT?
Question Figure/q9 3T&(d :

7N

N

Answer Figures/3TR 3T :
N KK
e

(a) (b) (e) (d)
If a mirror is placed on the line MN then which
of the answer figure is the right image of the
given figure.
Ife U TUUT MN T@T W @ TE @ @ T S
et ¥ ¥ EA-E A T s # we
wfafers g
M

[ PARAMOUNT | |

(a) TNUOMASAAG

(b) TNNOWASIAT

(¢) TNUOMARAP

(d) LAUOMASA]

Mohan says, Rani is the only daughter of my
grand-father’s only son. How is Rani’s father
related to Mohan.

(a) Brother/‘*l'l':ip (b) Uncle/=m=n
(¢c) Father/fUar (d) Grand-father/aEmsi

In a row, Amit is fourth from both the sides.

Total number of student in this row is :

s ufe H tfid Sl ol | WY Wi W §1 F

faenfofa @t T ufea A?

(a) 6 (b) 8 (07 (@9
General Awareness

The home rule movement in India was started

by-

frafefaa § § ‘T W qave’ f&e g fwar?

(a) S.N. Banerji and W.C. B/ 9 T1 EESIEGEI 3@{\@[
EEEii

(b) Annie Besant and Tilak / Tt 98 T facs

(¢) Mahatma Gandhi/ H&wT et

(d) Gokhale/ 7@

Africa is seperate from Europe by-

TR Sl XU | EHT HIET 8-

(a) Red Sea/ <lel 9T

(b) Mediterranean Sea/ #E2Rfa TR

(c) Atlantic Ocean / 3TTdifdsh HENR

(d) Persian Gult/ 9ffa= %

28.

29.

30.

31.

32.

33.

34.

Which is associated with kidney disorder-

fraferaa ® & Tt @ fommt @ forve aw 2-
(a) Ventilator/adTeiex

(b) Dialysis/ @fafig

(¢) Pacemaker/ UHHeT

(d) Baropacing/ ERElEn

Which governor general is associated with
"Doctrine of Lapse"?

frafafad & 9 @F o o S e SEefd 3k
qa’ © w22

(a) Lord Canning/ @€ Hm

(b) Lord Dalhorie/ @€ Se@rst

(¢) Lord Carnawalis/ @€ &Hared

(d) Lord Rippon/ @€ Ruq
Chairman of national
commission should be

T AFe AR SMEART T AR I giaT 2 -
(a) A minster of union Govt / %% T&HR &I Tl
(b) A retired Judge of High court/ Tar g 3=
AT T AT

(c) A chief minister of state/ TST THR 1 ﬂ'@'ﬁ'ﬁ
(d) A retired chief justice of India/ ¥aT fgd wRa &1
T T

Red color of ruby is due to presence of-
Tl &1 AT TT foheieh HICUT §ial 8-

(a) Iron oxide/ AT IS

(b) Potassium permagnet/ TR T

(¢) Chromium oxide/ SHIFHIH STFHES

(d) Copper sulphate/ HI Gothe

Which of the following states has the largest
area under forests?

Trfeiaa ® & fva g § waifas o &9 87

(a) Madhya Pradesh/ 79 LEN

(b) Meghalaya/S8Terd

(¢) Jharkhand/ FR@US

(d) Mizoram/ iy

Which of the following is highest law officer in

India?

ﬁw%im% T | &N ARG &1 gaiar fafer ifgerd giar
?

(a) Law minister

(b) Atorney General of India/ 9d F IEH WA

(c) Law secretory/

(d) Chief justice/ WRA ST H&F =TT

Gas used in artificial ripening of fruits is-

Hell @l S T A UhA A ST Gt | & 3=

ST 87

(a) Acetylene/ TR

(¢) Ethane/ SEQ:T

human rights

(b) Methane/ Hig
(d) Butane/ 3’1@-‘-{
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35.

36.

37.

38.

39.

40.

41.

42.

43.

Who was governor general during revolt of
18577

1857 3. @l whifd & TUY TE-T ST T AT?

(a) Lord Dalhousie/ @€ Sei@iel

(b) Lord Canning/ @8 &+

(¢) Lord Mayo/ @€ A1

(d) Lord Rippon/ @€ Ru=

Dance form "Mohaniattan" originate from?
gt o1z I fhve T @ wwaf-ua 27

(a) Kerala/ &% (b) Odisha/ sTEtem

(c) Karnataka/ ®ic®  (d) Tamil Nadw/ @S

Largest percentage of revenue is earned by
Govt. of India from-

ARE TR dad 3Tfee T I it -
(a) Custome duty/ H&H I

(b) Excise duty/ TeHESI g1

(¢) Income tax/ 3TF X

(d) Wealth tax/ d¥fd 3

Indian Institute of pulse research is situated
in-

(a) Bhopal/ sdret

(b) Patna/ 9T

(c) Kanpur/ S

(d) Hyderabad/ 2e0aTe

Which metal is good conductor of heat but bad
conductor of electricity?

HI Tt o1g 99 w7 DT AT 8, g fasten @

O?
(a) Gold (b) Mica
(c) Copper (d) Silver

Which color has the shortest wave-lenght?
fra 1 & yer it aiRed e %W el 872
(a) Yellow/ Gre (b) Violet/ ST

(c) Green/ 80 (d) Red / <ret

Kyzyl-kum desert is stiuated in-

FIEA HU W feora 2-

(a) Saudi Arabia (b) Northern Iran
(c) Uzbekistan (d) Turkmenistan

Who among the following lead the agitation
against the partition of Bengal (1950)?
frafafaa # @ feew ae fawe= (1950) & fate o
TU ST T Hged TR on?

(a) Surendra Nath Banergee

(b) C.R. Das

(c) Ashutosh Mukherjee

(d) Rabindranath Tagore

Math List I with List I1

Lits I List II

44,

45.

46.

47.

48..

49.

1 Rabat
2 Nairobi
3. Dodoma
4. Windhoelc

A. Tanzani
B. Kenya
C. Namibia
D. Morocoo
Code

(a)
(b)
(c)
(d)
Which article is related to
Commission for scheduled caster?

Trafeiaa ® @ S W1 ITJ0E U™ Fggfad S
T @ et 87 )

(a) Ariticle -332 (b) Article -334

(c) Article - 336 (d) Article - 338

When was the last telegram sent in India?
aRE W a9 Seum &a S TE?

(a) July 14, 2013 (b) August 1,2013

(c) July 30, 2013 (d) June 14, 2013

Mohamud Ghazni's last famous expendition to
Hindustan was against-

e e St i sifom i fohud fawg an?
(b) Mathura
(d) Kalinjar

LW B =W P
= w N
NI VU N @)
N = =g

National

(a) Kannaug
(¢) Somanath

What is the primary effect of excess
phosphorous in the aquatic environment
called?

STelt qTaTawul | 3ifEe WIEhH & Mafies T9E &l
T ST I 87

(a) Nitrification/ ST IHUT

(b) Eutrophication/ JarsuT

(c) Radiation/ fafertur

(d) Fixation/ it

Where in India can you find the highest cricket
ground above sea level?

;ﬂﬂﬁww%wﬁmmmﬁaﬁﬁﬁw
?

(a) Chail / =

(b) Gwalior/ TaTfelaX
(c) Guwahati/ AR
(d) Dehradun/ 3&0gd

What is the theme of 2016 united National (UN)
internatioal anti currpution days?

g Y @1 fag geer fRst faw 2016 & faw= &=
a1

(a) Zero cuuruption, 100% development
(b) Your no counts
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50.

Sl

92.

93.

94.

935.

S6.

(¢) United against curruption for development, peace
and security

(d) Break the curruction chain

Which country will host FIFA world cup 20227

HiGT f99 ®U 2022 &1 JENE fewa 91 § fwan

SrR?

(a) Qatar/ &

(c) France/ %9

(b) Brazil/ sTsiiat
(d) Russia/ &9
Maths

A cando % part of a workin 5 days and B, % part

in 10 days. Then, in how many days A and B
together can complete the work ?

Awmm%m5ﬁ'—rﬁ’am3,§m1oﬁ=rﬁ

FHIAT 21 @, QA1 FeTenT SHt 1A & fhafaT & &)
(a) 7% days (b) 92 days

(c) 8% days (d) None of these

Three points P, Q, R can seperately fill a
cistern in 4, 8 and 12 hours respectively.
Another pipe S canempty thefull cistern in 10
hours. Which of the following arrangements
will fill the empty cistern in less time than
others ?

UTSY P, Q 3T R ETI-3TeWT Ueh Saht ! HUTT 4, 8
3R 12 T ¥ WAd | U 3 UIgW S, W g St &l
10 =2 W WIett &Y FehdT 2 |1 9aEd - § @ &I |1 &y
@ HI T B LT edt W G 2l

(a) Q alone is open (b) P and R are open

(c) Pand S are open (d) Q and S are open
Simplify (0.1 {1 - 9)(0.16)%) T &

1 1 1 1
= b) — h d) —
@-162 108 ©iz Y109

\ .
L 1+(§—1+1 is equal to & STTET 1
20 |5 |4 |6 3 2,

9 9
(a) 0 (b) 1 (c) 10 (d) 20
The ratio of incomes of two persons is 5:3 and
that oftheir expenditure is 9:5. Findthe income
of each person, iftheysave Rs.1300 and Rs. 900
respectively.
Ifg &t SAfhAl St HIfdH 3T 5:3 T @ 9:5 % U
T g1 i & HAYT ¥, 1300 94T €. 900 F& &,
It Y A@ SIS
(a) Rs. 4000, Rs.2400 (b) Rs.3000, Rs.1800
(c) Rs. 5000, Rs. 3000 (d) Rs. 4500, Rs. 2700

What percentage of the whole week does Ajay
spend in office, if his office hours are 9 am to 5
pm from Monday to Friday ?

S7.

S8.

59.

60.

61.

g T & HAET ST T WHAR ¥ YEHAR 9 a6t
IR 5 T W T 8, 9 QL W@ H fohan wfcrera
T 31U+ HIATET | Fdid i gl

(a) 33.33% (b) 23.81% (c) 25.86% (d) 42.23%
Ashopkeeper fixes the price of anarticle as Rs.
500. But he gives a certain discount which
allows the buyers to pay Rs. 500 for the articles
including 10% sales tax. The rate of discount is
Teh gahe ferdt avg &M %1 9o &, 500 @ &Tar
81 Ut 98 U fAfved g2 37 & a1 &, 500 ¥ S=@ ¢,
fored 10% foat &< oft ynfuer €1 g2 & & F40 7
(@) 10%  (b) 101—11% © 91—11% (d) 11%

A manufacture fixes his selling prie at 33%%

over the cost of production. If cost of
production goes up by 12% and manufracture
raises his selling price by 10%, then his
percentage profit is—

agﬁﬁuhwmmﬁ%%%aﬁ‘mmm

fasra goa faa &ar 81 afe 3deA &N 12% @t &
S qen fefrafar sraa fosha Tea 10% w@T 2t &, @
IA% NN H wfagraar fwa-t grn |

@362% 302°% (©35% (d)28°%
9 21 8

A sum was invested on simple interest at a
certain rate for 2 years. Had it been put at 3%
higher rate, it would have fetched Rs. 72 more.
Sum is—

I3 gAY WIERUT o1 i TRt anfdes g uX 2 ad &
foru frafy &t St 31 9fe & X 39 w=t & 9 , @
N W, 72 9 A g1 v g

(a) Rs. 1,200 (b) Rs. 1,500

(c) Rs. 1,600 (d) Rs. 1,800

If the compound interest on a sum for 2 years

at 12%% p.a. is Rs. 510, the simple interest on

the same sum of the same rate for the same
period of time is —

w&12%%uﬁaﬁaﬁwﬁ1w2aﬁﬁm@wm

510 § @ 3H X ¥ WHE UH w 3@ Irafa F faw
HIEGUT S EHT-

(a) Rs. 400 (b) Rs. 500

(c) Rs. 460 (d) Rs. 480

A boat takes half time in moving a certain
distance downstream than up stream. The
ratio of speed of boat in still water and that of
the current is —

& 91, g1 &t feon § e fafvea g oA & am &
faudia set gt &1 94 & ToTQ 7TQ oW @1 Snen wng
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62.

63.

64.

635.

66.

67.

Tt ¥ @ @ 9 T H Gt AR A @t A &
3T -

(a)2:1 (b)4:3 ©1:2 @3:1

The total number of integers between 200 and
400, each of which either begins with 3 or ends
with 3 or both ?

200 9T 400 & swr T guiw Fead A g
fored @ wedes wem a1 a3 ﬁmaﬁr%mﬁmz;ur
AT gt § 4 R g

(a) 10 (b) 100 (c) 110 (d) 120

The protion of a ditch 48 m. long, 16.5 m. wide
and 4 cm deep that can be filled with stones
and soil available during excavation of a
tunnel, cylendrical in shape, of diameter 4 m
and length 56 m is —

48 Wt, T, 16.5 W, wiEt T 4 W, T @E & fhad
W & 4 W, & IR 56 W, TR AeEIRR GET H
Werd ¥ et veerdl 3k frgh & s s wawan

(a) é part  (b) é part  (c) i part (d) § part

A river 3 m deep and 40 m wide is flowing at
the rate of 2 km per hour, how much water (in
litres) will fail into sea in a minute ?

& 3 W, el qem 40 Ht, wiEt T 2 T,/ 92 @ 9w
ﬁaa?ﬂﬁl & g wg ¥ ufa faee fr ot @1 emaen
(FfeX ¥) Fa ST
(a) 4,00,000 (b) 40,00,000
(c) 40,000 (d) 4,000
A man standing at a point X is watching the top
of water, which makes an angle of elevation of
30°. The man walks some distance towards the
tower and then angle of elevation of top of the
tower becomes 60°. If the height of tower is 30
m, then the distance he moves —

g X W @1 Uk Al fdhdl 2ot & Ied fag &l
AT ST I=FUT SIT 30° §| 98 SAh @ &l 3T
FO T a9 S § a91 I T ST T IS
60° B a1 ¥ T faT & =g 30 H. 2, @ AFE
T @ &1 TR g e 2

(a) 22 m 1 22V3m  (©)20m (d)204/3m

20 . 4
The value of sec? 6 — > 6-2sin” 0 .,

2cos?0-cos?0
sin? 60— 2sin? 0
2cos? 06— cos?0
(a)1 (b) 2 (c)—1 (do
Ifx = a(sir;ﬁ + c;s 0), y = b(sinb — cosb), then the

sec20— WW%I

value of x_2 + y_2 will be—

a b
IiE x = a(sinb + cosh), y = b(sinb — cosb),

68.

69.

70.

1.

72.

Directions for questions 73 to 75 :

x2 2
X Y & um EEm
a® b2
(a)0 )1 (c) 2 (d)—2
If (rcos®-+3)2 +(rsinf6-1)2 =0, then the
rtanb + sec .
— " will be—

value of
r secH + tanf

T (r cosO - V3)2 + (rsind - 1)2
rtanb + sect & T 'Eﬁ'ﬂTI

=0, a

r secH + tanf

@2 3
5

(c) — V5
4

b3 @2
5 4

If 2a-1)2+4b-3)2 +@c+5)2
a® + b3 +¢3 —3abcis_
aZ +b2 +c2
e 2a-1)2 + (4b- 3)% + (4c + 5)2
- 3abe
2

=0, then the

value of

=0,

8 53 .8 )
a” +b” +4 &1 O &= §)

a2+b2+c

3 3 3
32 b) 22 0 12
(a) = (b) 3 (c) (d) 3

If x 2 + Lz =1, then the value of

X

102
X +x96 +x

'Qﬁ{x2+L2:1,?ﬁ'
x

90 84

+x 78 72

+x'®+x“+51s

102 72
x +x +x" + x4+ x%+x”+5

(a) 0 (b) 5 (c) 6 (@1
The centroid of a AABC is G and the area of
AABC is 60 cm?. The area of AGBC is —

AABC &1 &5 G 991 §hat 60 9. 2 81 AGBC &1
SAHTT FT BRI

(@)30cm? (b)40cm?  (¢) 10 em? (d) 20 cm 2
The radius of two concentric circles are 17 cm
and 25 cm. A straight line PQRS intersects the

larger circle at P and S and smaller circle at Q
and R. If QR = 16 cm, then PS =?

A =T gl @ Breard 17 9, qen 25 At ?) U
@1 PQRS &2 g9 &l P a91 S WX 3K B g9 &t Q
qAT R UX FEdl g1 I QR = 16 @It @t PS = ?

(a) 41 ecm (b) 33 em (¢)32cm (d) 40 cm

In an institution

96 90 84 78

there are 800 students. Students use different modes
of transport for going to institution and return. The
given pie—chart represents the required data. Study
the chart and answer the questions.

9 AT 23 | 25 & fou fAdvrr us G 9 800 B
21 B AM-WM & feru fafa= areEt &1 9= & §1
Trafafaa ag o & amifea iwe! &t gvitan T=w #)
e HT AMYdeh FEATT HL a9l Ul o I S
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(a) Fluidity (b) Politeness
sl (¢) Clarity (d) Fluency
83. Indict
(a) Implicate (b) Elude
(c) Charge (d) Manifest

Directions for question 84 to 85 : Out of the four
alternatives, choose the word oppaosite in meaning to
the given word.

84. Invincible

73. Number of students travel in public bus is —

) (a) Small (b) Invisible
(a) 150 (b) 120 () 130 ) 125 (¢) Vulnerable (d) Reachable
74. Number of students who don't use institute 83. Inoffen§1.ve )
bus is — (a) Sensitive (b) Organic
TEA S T T SR T H a1t B S T (c) Sensible (d) Rude
Directions for questions 86 to 88 : Four alternatives
(a) 330 (b) 350 (C.) 48(_) (d) 320 . are given for the idiom/Phrases underlined int he
75. No. of students who go to institute on foot is — sentence. Choose the alternative which best
T Yeet S aret 8T &t O faeaet 21 expresses the meaning of the Idiom/Phrase.
(a) 160 (b) 170 (c) 120 (d) 106 86. To take to heart.
English Comprehension and (a) To be encouraged (b) To grieve over
Lanugage (c) To like (d) To hate
Direction for question 76 to 78 : In eahc of the 87. Yeoman’s service
following questions, one part of thesentence has an (a) Medical help (b) Excellent work
error and the other parts of the sentence are correct. (¢) Social work (d) Hard work

Find out which part of the sentence has an error and
mark that part as your answer out of (a), (b) and (c) If a
sentence is free from error, then choose your answer
as choice (d)

88. To face the music
(a) To enjoy a musical recital
(b) To bear the consequences
76. A junior doctor (a)lexpressed concern (b)/about
physicians recommended the vaccine. (¢)/No error

(d)

77. We have discussing (a)/All the known processes
(b)/of mental growth/(c) No error (d)

78. Children enjoy listening to (a)/ghosts stores
(b)/especially on Halloween night. (c)/No error (d)

(c) To live in a pleasant atmosphere
(d) To have a difficult time

Directions for questions (89 to 91) : A part of the
sentence is underlined. Below are given alternatives
to the underlined part at (a), (b), (c) which may improve
the sentence. Choose the correct alternative. In case
no improvement is required, your answer is (d)

89. AsIam new to the place I felflike fish in water.

Directions for questions 79 to 81 : Sentence are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correct alternative out of the four.

(a) Felt like a fish in the water
(b) felt like a fish with water.
(c) felt like a fish out of water.

79. The third florey building is not safe and must (d) No improvement

be......... down. 90. He is found of saving money
(a) pull (b) pulling  (c) pulled (d) pulls (a) hoarding (b) not spending
80. There is something good ......... him. (c) spending carefully (d) No improvement
(a) of (b) about (c) for (d) inside 91. He comes often to our house.
81. The line in the passage cannot be deleted as it (a) come often (b) often comes
iS ceeenens to the story. (c) often come (d) No improvement
(a) intervened (b) innate Directions for questions 92 to 94 : Out of the four
(c) exacting (d) integral alternatives, choose the one which can be substituted

Direction for questions 82 and 83 : Out of the four ! |for the given words/sentence.

alternatives, choose the one which best expresses the
meaning of the given word.

82. Lucidity

92. Code of diplomatic etiquette and precedence.
(a) Statesmanship (b) Diplomacy
(c) Heirarchy (d) Protocol
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93. To renounce a high position of authority or

control
(a) Abduct (b) Abandon
(c) Abort (d) Abdicate

94. Not to be moved by enteaty

(a) Rigourous
(c) Inexorable

(b) Negligent
(d) Despotic

Direction for question 95 : Four words are given in a
question, out of which only one word is correctly
spelt. Find the correctly spelt word.

our dog, Chippy likes papaya; I know from a book
that Akbar was the 21 of Babar, and 22 in 1605;
and I know from the ratio that India did not do
wel in the latest Test matches. We can call these
23 of knowledge facts but they are not science.
Science starts with facts, but not with facts which
have 24 to do with each other, like the facts about
our dog, cricket and the Mughal ruler; those facts
are not related in any way and so have nothing 25
with science. Science starts with observation.

95. (a) Mandetory (b) Circullartoy 96. (a) gradson (b) grandfather
(¢) Temporary (d) Reguletory (¢) grand nephew (d) son
Direction for question 96 to 100 : In following passage 97. (a) gone (b) died
sg;nstz %f ctz?reefm?r%?]dhgxgogget?]elf(t)r?euctf aF\;les?/:/jert r;g (¢) disappeared O
gach q%estion ou)tlofthe four alternatives and fillinthe | 98- (a) pieces  (b) peace  (c) whole (d) block
blanks. 99. (a) no (b) neither  (c) nor (d) nothing
Cloze Test 100.(a) to lie (b) to speak (c) to sleep(d) to do
Science means knowledge, but every knowledge
is not science. I know from my own eyesight that
— ANSWER KEY (MOCK-I)

1. (d) 2. (b) 3. (¢) 4. (c) 5. (d) 6. (d) 7. (b) 8. (@) 9. (b) 10. (c)
11. (d) 12. (d) 13. (d) 14. (a) 15. (c) 16. (c) 17. (a) 18. (a) 19. (d) 20. (a)
21. (a) 22. (d) 23. (b) 24. (d) 25. (a) 26. (b) 27. (b) 28. (d) 29. (b)  30. (b)
31. (d) 32. (d) 33. (b) 34. (c) 35. (c) 36. (a) 37. (c) 38. (a) 39. (d)  40. (d)
41. (a) 42. (d) 43. (c) 44, (c) 45, (b) 46. (d) 47. (d) 48. (c) 49. (b)  50. (d)
51. (c) 52. (c) 53. (b) 54. (b) 55. (a) 56. (d) 57. (a) 58. (d) 59. (d) 60. (a)
61. (b) 62. (b) 63. (b) 64. (c) 65. (a) 66. (a) 67. (b) 68. (b) 69. (a) 70. (c)
71. (d) 72. (c) 73. (b) 74. (d) 75. (c) 76. (b) 77. (a) 78. (b) 79. (c) 80. (b)
81. (c) 82. (d) 83. (a) 84. (c) 85. (b) 86. (d) 87. (b) 88. (c) 89. (a) 90. (d)
91. (a) 92. (d) 93. (c) 94. (a) 95. (d) 96. (d) 97. (a) 98. (a) 99. (c) 100. (b)
— ANSWER KEY (MOCK-2)

1. (c) 2. (d) 3. (@) 4. (b) 5. (b) 6. (b) 7. (a) 8. (@) 9. (a) 10. (c)
11. (d) 12. (d) 13. (d) 14. (a) 15. (c) 16. (b) 17. (a) 18. (b) 19. (c) 20. (c)
21. (b) 22. (c) 23. (d) 24, (d) 25. (c) 26. (a) 27. (b) 28. (d) 29. (c) 30. (d)
31. (b) 32. (d) 33. (b) 34. (c) 35. (c) 36. (b) 37. (d) 38. (a) 39. (a) 40. (a)
41. (d) 42. (b) 43. (c) 44, (a) 45, (b) 46. (d) 47. (d) 48. (b) 49. (d) 50. (b)
51. (a) 52. (d) 53. (c) 54. (b) 55. (b) 56. (b) 57. (d) 58. (a) 59. (b)  60. (b)
61. (c) 62. (d) 63. (c) 64. (a) 65. (d) 66. (b) 67. (a) 68. (d) 69. (@) 70. (b)
71. (a) 72. (a) 73. (d) 74. (d) 75. (b) 76. (a) 77. (a) 78. (b) 79. (d)  80. (b)
81. (c) 82. (d) 83. (a) 84. (c) 85. (b) 86. (d) 87. (b) 88. (c) 89. (a) 90. (d)
91. (a) 92. (d) 93. (c) 94. (a) 95. (d) 96. (d) 97. (a) 98. (a) 99. (c) 100. (b)

ALL THE BEST



